Big Exam #4. Remember you are being evaluated on your communication of the physics.
1. Please derive the relationship for centripetal acceleration: ac = v2/r. You may have noticed that I neglected to define my lens in the video. Please do a better job than I did.
2.  The moon is about 60 earth radii away from the earth.
a) We put a space station in Lower Earth Orbit – just above the atmosphere. As it orbits the earth, is the station in equilibrium? If so how do you know? If not, please find its acceleration, including direction.

b) What’s the speed of the space station as it orbits the earth?

c) Is the moon in equilibrium? If so how do you know? If not, please find its acceleration, including direction.

d) Find the approximate speed of the moon necessary to keep it in orbit.
